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Guiz B

How many comparisons does the insertion sort need to sort this array?
A=[3,5/1,8,2,6]
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How many comparisons does the Button-up Mergesort need to sort this array
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Let T(n) = 5T(n/6) + n/log n.

Apply the master theorem to give an asymptotic bound for T(n) using an appropriate notation (O, Omega, or Theta).

A=[2,4,3,56,7]
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1.15. Express the following functions in terms of the ©-notation.

(a) 2n + 3log'® = B(n)
(b) 7n® + 1000n log n+3n. - o)
(c) 37115 (\/_) logn - @(Mt'j‘ 1o »\\

(d) 2" +100" +nl = 5 ()
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1.16. Express the following functions in terms of the ©-notation.
(a) 18n° +log n®. = 9 (W) i
b) (P +n)/(n+5). = h*4 - .- = 9 (1*)

(Yo w) (c) log®n+y/n+loglogn. = g5 (/)
(d) n!/2™ +n". ) <nn\
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1.22. Show that n!% = O(2"), but 2" # O(n'%)
1.23. Show that 2" is not ©(3").
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1.29. Use the < relation to order the following functions by growth rate:

n n 712
1%,/ logn'®, nlogn, 5 loglogn, log®n, (v/n)", (1/2)", 2", nl.
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